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MATHEMATICS — GENERAL
Fourth Paper
Full Marks : 100

Candidates are required to give their answers in their own words
as far as practicable.

TR Sy AT AT |

Module-VII is compulsory and answer any one Group from Module-VIII

Module-VII
[Elements of Computer Science and Programming]|
(W : @o)
ST ZH G ST (AT (T~ foTls ATaT T wis |

S| - A 4THT Ted vie ¢ 8x@
(F) (23.45)g WA Frget wifSs H27y #ifere e |
(*) A=-145.731, I = 65 =1 fwfeii® FORTRAN Rfolba SIIEss{G Fiwel (13 ©f (=102l ¢
WRITE (¥, 5) A, 1
5 FORMAT (X, F 102, 12)
(effsfb e BFTE b 2SI =T FE!)

(o) TR eive GRE £ Soiefa Fa0e #M1ta 5= 93T 725 Ieqt e el ¢

x|y | f(xy)
1|1] 1
10| 1
01 0
0/0| o

(9) ASCII 43 FORTRAN-93 %31 I 704l |
(8) I TR Fea/folrod (0 “a = 0 9 b = 0 I @I @@ I a + b = 0”7 {7 e Kol @t |

®) A=75B=19,C=20,D=08,1=7,] =13, K =5 3= [@56® FORTRAN - 77 9ififog 5w [efx
Al

U=A/C+(C-B)/D+J/I*K.
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(® Huntington Postulates-43 7IA 4306 ?Lﬁ?‘l Izsifade (B, +, », ', 0, 1)~ A I |

\/Z+logeb
c+dsinx

@) fasfrfie FORTRAN ceilaefirs af @it gt At ork of e st
WRITE (*,2) L, X, Y
2 FORMAT (14.2,2 E6.3)

(%) -49 FORTRAN <l (sTCAT|

() 97 7S ol =R Fesg Roiereei @ s e
(110011.101), — (10110.001),
() fsferfiie @res 7=Anfes sTres SBE 7R e T 2
(AB.C4)¢

(o) frsferire e S @3 a9t 1o Sl ¢

f(x,y,2)=xz+y'(x'+x(y+2z")

3 O GG HZGTS FAGE TS e A | S0

90l () Freiis 7 N-a9 FIEe W 919 & @6 FORTRAN 77 (elels (=10l |

() foaee meTa @ Fbre EEiRt G 7 @I 2B M 23 | 2T 5T $IF B0 Al 525 Gret
@I 2B ANLT FACS A& | (I G B AP (SITHd NG TS 214 77— 30 Gf6 a7
335 oAl faefd A | so

81 (F) WHRIS AT AN WGP AT G G flowchart S&F F ¢
91, 34, 28, 102, 55, 3, 19, 78, 10, 47

(¥) Karnaugh Map 59217 303 sfeaie IR Semwsh 7=e F0 ¢
fO,y,z)=x"yz'+xy'z+xyz'+x'y'z S0
¢ () FEa fedre wwaclE e Ry sa7 o « 3 foba o= st ¢
ax?+bx+c=0, a#0
() R @tg g2w 7 s e e « 3 sifelba o&a w0l
Fibonacci-&¥ : 0, 1, 1, 2, 3, 5, 8, 13, 21, ...
@A 1> 1 G HOTS T N7 nefera @lorrere Jfue 27 | 0
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v (3) e 3w @t @4 sinx FRE@rs ¢

GFB &S T x = xy~CS sin x-43 A % T Gy G5 SeTCanfzms] a1 T, @A Soa = < 1076
(}) x=x)-CS [ (x)-97 N 7 G GF6 SPRTCafEwms] Toe S @A

f(x)=0 , x<0
= x> —sinx , O<x<m
=sinx—x’ , TW<x<27w
=0 ,  elsewhere
) =22/ so
al () @fes Feat e et a1 fsfefie I8 Sl Ssizivm 303 | SToseF 9 TNCINaR Feres Tea!
ot Tl ¢
x| Yz | S
11111
1/1]0]0
11011
1/0]/o0]o0
0[1]1]1
0[1]0]0
0[0[1]1
0/0[0]0
(¥) Karnaugh Map J927 @ FHETR® TR St 736 S ¢ so

S (63,2 = x' vz + 29" 4 xyz ' xyz
b
-1
b1 () v b A Trapezoidal jtas sMiaitay Ixzeta“ *dx -4 i fefa w9 @ @55 FORTRAN 77/90
a

el CoTedl, @ATCT a=1.0 @R b=2.3 |
®) nCr—u‘]ﬁ T (@ = Subroutine subprogram-43 M2 @36 FORTRAN 77 (i &edl|l  so

51 Newton-Raphson *&@fed 72t =7 ™I 2 2178 \g/ ©ITd X3 —4x — 9 =0 NI @6 AT S
Refa s @G ¥ FORTRAN 77/BASIC/C (2las (=102 | so
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sol (3) 5T sTopTRld 7Rl @IS ey e 03 @i Ja ANBICE FREES T SFTE (CNF) 2w

AT
x| Y|z | /S
1{1]1]0
1{1]0]1
1{0]1/0
1{0]0|1
O(1(1]0
0({1(0]0
0j0f1]1
0/]01010

() 726 2ve GINT AORAT o7.@. 9 7%, (TF FF G5 BASIC/FORTRAN 77/90-4 455 cafialrs
(e | So

[English Version]
The figures in the margin indicate full marks.

Module - VII
[Elements of Computer Science and Programming]
(Marks : 50)

Answer question no. 1 and any three questions from the rest.

1. Answer any five questions : 4x5
(a) Convert the number (23.45)8 to its equivalent decimal number.
(b) If A=-145.731, 1= 65, describe the output of the following FORTRAN statements :
WRITE (*, 5) A, 1
5 FORMAT (X, F 10.2, 12)
(Use symbol B to denote each blank space)

(c) Draw a switching circuit that realizes the switching function given by the following table :

x|y | f(xy)
1|1] 1
10| 1
01 0
00| o




(d)
(e)

()

(@

(h)

- (a)

(b)

(c)

. (a)

(b)

. ()

(b)

. (a)

(b)

(5) (PaI)-Mathematics-G-4/Ser-1)

Write the full form of ASCII and FORTRAN.

Write the dual statement of the statement “a =0 and 5 =0 if and only if a + 5=0" in a Boolean
algebra.

IfA=75B=19,C=2.0,D=0.8,1=7,)] =13, K =35, evaluate the following arithmetic expression
in FORTRAN 77: U=A/C+(C-B)/D+J/1*K.

State the Huntington Postulates which define a Boolean Algebra (B, +, ., ", 0, 1).

\/2+logeb

Write FORTRAN expression of - .
c+dsinx

Point out the errors (if any) in the following FORTRAN program segment :
WRITE (*,2) L, X, Y
2 FORMAT (I14.2,2E 6.3)
Perform the following subtraction using 2’s complement :
(110011.101), —(10110.001),

Find the octal equivalent of the following Hexadecimal number :
(AB.C4)4

Draw a switching circuit for the following Boolean function :

f(x,y,2)=xz+y'(x'+x(y+2z")

Draw an equivalent simpler circuit of this circuit. 10

Write a FORTRAN 77 program to find the factorial of a natural number N.

A committee consisting the three members approves any proposal by majority vote. Each member
can approve a proposal by pressing a button attached to his/her seat. Design a simple switching
circuit that will allow current to pass when and only when a proposal is approved. 10

Draw a flowchart for sorting the following list of real numbers in descending order :
91, 34, 28, 102, 55, 3, 19, 78, 10, 47

Simplify the following Boolean function using Karnaugh Map :

fy,z2)=x"yz'+xy'z+xyz'+x'y'z 10

Given the quadratic equation ax? + bx + ¢ =0, (a # 0), draw a flowchart to compute the roots of the
equation.

Draw a flowchart to print the first 'n' terms of the Fibonacci sequence : 0, 1, 1, 2, 3, 5, 8, 13, 21
........ Where n > 1 and also print the sum of the terms. 10
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6. (a) sinx is defined by the following infinite series :

3 x5

sinx=x——+——...

31 5!
Design an algorithm to evaluate the value of sin x for a given value x = x,, with error < 109,

(b) Design an algorithm to find the value of f(x) at x = x,, where,

f(x)=0 , x<0
—x? —sinx , O<x<m
=sinx—x’ , T<x<2xw
=0 ,  elsewhere
and n=2% 10

7. (a) Find the logic circuit that represents the following Boolean function. Find also an equivalent simpler
circuit :

= e I e
SO = = OO = =
S = O = O = O = (N
S — O = O = O~

(b) Simplify the following Boolean function using Karnaugh Map : 10

f(x:yaz) :x'yZ+xy'Z'+ xyZ"l‘ xXyz

b
-1
8. (a) Write an efficient FORTRAN 77/90 programme to evaluate Ixzetan “dx by Trapezoidal rule with
a

8 ordinates where a=1.0 and b =2.3.

(b) Write a FORTRAN 77 program to compute "Cr using a subroutine subprogram. 10

9. Write a FORTRAN 77/BASIC/C programme to find a real root of the equation x3 —4x —9 =0 correct
up to 6D by Newton-Raphson method. 10



(7) (PaI)-Mathematics-G-4/Ser-1)

10. (a) Find the Boolean function represented by the following truth table in Conjunctive Normal Form :

x| Y|z | /S
1{1]1]0
1{1]0]|1
1{0]1/0
1{0]0|1
O(1(1]0
0({1(0]0
0j0f1]1
0/]01010

(b) Write a program in BASIC/FORTRAN 77/90 to find the H.C.F. and L.C.M. of two given positive
integers. 10

Module-VIII
(et - %)
[A Course of Calculus]
(N : €o)
SO 2 G SR (ATF (F-(FTA) foaf etea Ted e |
SO (F-(ITA Aols 2TaT e S ¢ 8x¢

® n(x)= 1 +xnx

(4) Fourier Series-43 Sfwa34 @3 &= Dirichlet’s-43 *of Rg® el |
() ‘@’ @R ‘b~ z=(x2 + a)(y? + b) (ATF TTHEHE (I IRKF S=eT AT 10 T |
() o = ST 2 L{sin(7¢+5)} |

s neN; Vx>0 @ {f, ) S0P S@ibg Sfedgel A5 S|

(e) mArs @ (2x2+3x)y2 +(6x+3)y1+2y=(x+1)ex-1%"'|ﬁ§?ﬁl

(5) Laplace transform-43 SIR8gd &« Sufficient Condition @f& (#1211 |

2
(@ e F=o swfo’s TR %+3%+2y=2e3" Saegelfoa e e y, fef e |
X
2 2 2
(@) x+%x2+%x3+...+g—!))’xn+... qre @ fia sifesae aemd fefa s
: . nj.

@) I fefa 3 g L_l{ 21 }
S +9
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SR

59|

381

pled

Y|

2 3 4

@) ole @ loge(1+x)=x—x7+x?—x7+...él?‘< @3 qre e Sfeme ey fe w0 |

() s «2fige S f(x)-93 TRam @il G st

-1, for —m<x<0
I, for 0<x<m

f(x)={
OIFPd (e (@ ¢

Yo

X

(F) oe @ Z(nx+1){(n—l)x+1} @6 @~ [0, b] T (0 < a < b) ATSITI FFSH

58 [0, b] SBIAITE (FIEG pointwise S |
_ n
@) orre @ Zﬂm” @I Feia oS 79 x| <1 | So
n

(F) I 0 ¢

(D3—DZ+4D—4)y=68e’sin2t @A y=1,Dy=—19, D>y =-37 q< =0 48 D:di |
X

0z Oz

(Q[) meg p+q=x+y+z @W p:a,q_a | ‘o

d2
@) CowEllbeT STaRed MRITE I ! d—2y+y:tanx |

X

2
() %My:O(bO) -4F BT PR € BT Somefr e w0, @A 11(0)=0,3(1)=0 |
X

Yo

(F) y-a3 T TN FE ¢

@+5x+y=et

dt

dy
—+3y—x=e
a0

2t

(=) 5 e e s L {%} 50
S(S% +1)



(9) (PaI)-Mathematics-G-4/Ser-1)

Sal Laplace Transformation 21T FCI AN FCA ¢
2
d—y+6d—y+10y:0,y(0):1,y(2)=\/§ S0
dxz dx 4

Sol f(x)=]| x|, xe[-n, 1] SO Fourier @i e 11 @3 (At orate @

1+ ! + ! + il S
— A cee = O
32 52 8
351 (F) IRR w7 AT ST Sl 2
Y p-xyg=x(z-2y)
(%) SR SHT f-(F z=f(ﬂj (AT A L A6 TRRF SqheT AT 510 A | so
z
-1 1
201 (@) W fefy s ¢ L —
s(s +w )
2d’y . dy
(%) AN R ¢ x° —= —3x— + 5y =sin(log x) So
dx? dx
[English Version]
The figures in the margin indicate full marks.
Module - VIII
(Group - A)
[A Course of Calculus]
(Marks : 50)
Answer question no. 11 and any three questions from the rest.
11. Answer any five questions : 4x5

(a) Test the convergence of the sequence of functions {f,} where f, ()c)=1 al ;neN; Vx>0.
nx

(b) State Dirichlet’s conditions for convergence of a Fourier series.

(c) Form the partial differential equation by eliminating a and b from z = (x% + a)(y? + b).

Please Turn Over
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12.

13.

14.

(d)
(e)

€))
(2

(h)

V)

(b)

(b)

Find : L{sin(7¢ + 5)}.
. . 2 _ X
Verify that the equation (Zx + 3x)y2 +(6x+3)y +2y=(x+1)e" is exact.

State sufficient conditions for the existence of Laplace transform.

Find the particular integral Vpr by the method of undetermined coefficient :

dzy

Y 3 9o
dx? dx
. | e L e (),
Determine the radius of convergence of the power series x+-——x" +——x" +...+ X"+

4! 6! o (2n)!

Find the following inverse Laplace transformation : L_l{ 21 }
S°+9

2 3 4
X

Show that log,(1+x)=x— % + 3 +... and find its radius of convergence.

Expand in a Fourier series of the periodic function f(x) with period 27 defined as

-1, for —m<x<0
I, for 0<x<mw

f(X)={

Hence, show that 1—%+§—...= 10

T
7

X
(mx+D){(n-Dx+1}

0 <a < b, but only pointwise on [0, b].

Show that the series Z is uniformly convergent on any interval [a, b],

. A\
Show that the series E u|x|” is uniformly convergent in |x|< 1. 10
n

Solve : (D3—D2+4D—4)y:68etsin2t, given y=1,Dy=-19,D%y=-37 at 1=0 and D:di.
X

Solve : p+g=x+y+z where p=%, q_@z 10

)



15.

16.

17.

18.

19.

20.

(11) (PaI)-Mathematics-G-4/Ser-1)
2)’
(a) Solve, by method of variation of parameters d_z +y=tanx,
X
(b) Find the eigenvalues and eigenfunction for the differential equation 10
d? y
—5 +hy=0>0), »(0)=0,y(1)=0
dx
(a) Solve for y:
dx t
—+5x+y=e
a0
dy 2t
—+3y—x=e
a
. -1 1
(b) Find: L {y———— 10
SIS+
Solve by Laplace transformation :
2
d—y+6d—y+10y=o,y(0)=1,y(5j=ﬁ 10
dx2 dx 4
Find the Fourier series for the function f(x)=|x|, x €[-7,7]
2
Hence, deduce 1+L2+L2+...:n— 10
35 8
(a) Solve the partial differential equation : y2 p—xyq=x(z-2y)-
(b) Form partial differential equation by eliminating the arbitrary function from z = f EQJ 10
z
. -1 1
(@ Find: L | ——
s (s2 +w? )
2d%y . dy
(b) Solve : x“—=—-3x—+5y=sin(logx) 10
dx2 dx
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Module-VIII
(Rt - @)
[Discrete Mathematics]
(WS : @o)
SOT &Y G SRRB (AT (F-(HTA o 2itaT Ted i |

S (T A6 ATET T WS ¢ 8x@

SR

59|

381

pled

@) 16!-F 17 271 ©l9f T 9 S_HT ATF T |
(%) v Pl ISBN-93 3T AbiE wrw b e wea ¢
81— 85392 — 68 —
(o) ‘AND’ gate-43 eI 1o A |
(@) xy+xy+xYy' 92 FR ARG @i eI SeE (C.NLF.) &<k 3l |
(®) 2, 4,8, 14, 22, 32, ... SE@IHF Recurrence T=AKF(0 (FCA! |
(®) IM ged(a, b) =1 =7, ©&@ @AE @ ged(a + b, ab) = 1.
(®) n 93 ST AP BT 2 IR G(2n) = 2¢0(n) @A ¢ 257 Euler's phi S0 |
(®) @@ @FH A SHECEE B-93 &) (8 (@ x +y =1 @R xy =0 (& y =x', @ x, y € B.
@) orae @ (62.625);,=(111110.101),
@) @3 @17 aforaifaeia ‘Round Robin’ 31 1o T ATe 5-6 7ot wieiarzet 3 |

(}) SRS @I [ffe @reifag «1f2ffS sien 890102 163 @i @it 723 #IfffS s1=et 300090 ==
@8 797 UPC 9?7 o

() p @& g 76 22 @l A 2 e @, pf !+ P =1 (mod pg) |

(%) ©i9t 2lf&17 (division algorithm) JRITY 315 @R 4235 ¥ kAW o1 atzel e ey Fcar 1 7o
AR 5 @R ¢ T FCA ATS  ged(315, 4235) = 3155 + 4235¢ = | so

(F) &= IR @, ¢(5n) = 50(n) BF IM @R @IS IM 5, n-GF ©9 I |
(?) 5 Master Card-99 513 w2y [eofy et ¢

5546 — 1997 — 2335 - 500 — Yo
() ‘Chinese Remainder Theorem’ ﬁﬂ@ FCA IR G AR ANY FCEl ¢

x =2(mod 3), x =3(mod 4), x =4(mod 5)

(}) =256 2 n-93 (TS @I € n-93 K A7 GNoTE @R ARy Foef sfheai Ata?
pYel
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1

11.

(13) (PaI)-Mathematics-G-4/Ser-1)
@) sl @fiba FRs sorms T s e
(,-1,-1,1,-1, -1, 1, -1, -1, 1, ..}
(}) & TR 1 G @RS AFRG 2 (2 - n), 6 A Koy | o

@) W N=0q, 10" +a, 10" +. +a,10+ a, 77, S@ @e @ N, 5 7141 Rerey 23 7 @) wewig 7
a,=0731 52|

(%) (2FB5),,-(F hexadecimal (T binary-(S #If§aes T4l | N

@) =i seg wEefl el = s Tae s e
a,=a, *ta, ,,n=3 @A, a;=1, a, =3

() 1! +21+ 31+ 41+ .+ 100! =BT 15 71K Sl 40T Sl F9 201 W e | S0

(F) N FCA @ TAN FRAF (eF A = |
(@) 11 +2!+ 3!+ ..+ 49! 2Aa 955 BN o’ [T s so

[English Version]
The figures in the margin indicate full marks.

Module - VIII

(Group - B)
[Discrete Mathematics]
(Marks : 50)

Answer question no. 11 and any three questions from the rest.

Answer any five questions : 4x5
(a) Find the remainder when 16! is divided by 17.

(b) Find the correct check digit for the following incomplete ISBN 81 — 85392 — 68 —

(c) Construct a truth table for ‘AND’ logic gate.

(d) Express the Boolean expression xy +x'y +x)' in conjunctive normal form.

(e) Find a recurrence relation that define the sequence 2, 4, 8, 14, 22, 32, ...

(f) If gcd(a, b) =1, then show that gcd(a + b, ab) =1.

(g) If n be an even positive integer, prove that ¢(2n) =2¢(n) where ¢ is the Euler's phi function.
(h) For any Boolean algebra B, if x,y € B, then show that x +y =1 and xy =0 implies y = x".

(i) Show that (62.625),,=(111110.101),.

Please Turn Over
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12.

13.

14.

15.

16.

17.

18.

19.

(a)
(b)

(a)
(b)

(a)
(b)

(a)

(b)

(a)

(b)
(a)
(b)
(a)

(b)

(a)
(b)

Find a Round-Robin Tournament schedule for 5 teams.

The identification number of some particular company in India is 890102. The identification number
of some product of that company is 300090. Write down U.P.C. for this product. 10
Show that if p and g are two distinct primes then qul +q° 1o (mod pgq).

Applying division algorithm find the g.c.d. of 315 and 4235. Then find integers s and ¢ such that
ged(315,4235) =315s + 4235¢. 10
Prove that ¢(57) = 5¢(n) if and only if 5 divides n.

Find the check digit of a Master card 5546 — 1997 — 2335 — 500 — 10

State 'Chinese Remainder Theorem' and use it to solve the following system :
x =2(mod 3), x =3(mod 4), x =4(mod 5)

Find the number of positive integers less than »n and prime to » when n takes the value 256.

10
Find the generating function for the sequence
{1,-1,-1,1,-1, -1, 1, -1, -1, 1, ...}
Prove that for every positive integer n, (n> —n) is divisible by 6. 10

If N=am10’”+am7110’”*1 +..+a;10 + a,, then show that N is divisible by 5 if and only if
ag=0 or 5.

Convert (2FB5),, from hexadecimal to binary. 10
Solve the following difference equation with given initial condition :

a,=a, | +a, ,for n>3, where a; =1, a,=3.

What is the remainder when 1!+ 2!+ 3!+ 4!+, 4+ 100! is divided by 15? 10

Prove that there are infinitely many prime numbers.

Find digit in unit place in the sum: 1! + 2!+ 3! + ...+ 49! 10



